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4110 4~6 ADBFEEEZITAN 720,000 720,000
114 (10 A B |REmmiBe4Anien 100,000 620,000
2] 510 A B |REmEIBESA iR 100,000 520,000
3] 610 A B |REmmiBEcAnier 100,000 420,000
4] 6|28 SRERE | DE— (REERN)  4~68% 308 419,692
7110 T~OBDHFHENEZTAN 720,000 1,139,692
51710 A B |REmmRaE 7 Anten 100,000 1,039,692
6] 8|9 A B |REmEIEESADiEN 100,000 939,692
719 [10 A B |REmEIREESA DN 100,000 839,692
8] 9[12 £ B B8 |TJUVH—AVIR 11,290 828,402
9l 9|25 = B B |AM4ADE—AHEN 4,149 824,253
10] 9 |30 SRERE | DE— (REER)  7~98%D 1,038 823,215
10{10 10~ 128D BFEEEZITAN 720,000 1,543,215
11]10{10 A ## B |RENRHIEE1080/6H 100,000 1,443,215
12]11] 8 A ## B |REmEEE11 80N 100,000 1,343,215
13]12]10 A #H# B |REmEEE1280168 100,000] 1,243,215
141118 SRERE D1 (XEER)  10~128% 105 1,243,110
1110 1~BADBFHEANEZITAN 720,000 1,963,110
151 1|10 A B |REmEEE1 Anter 100,000} 1,863,110
16] 1 |30 £ B B8 |TJUVH—AVIR 20,868| 1,842,242
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171 2 (10 A B [FHEWINEBE28 Dick 100,000 1,742,242
18] 2 |16 5 ¥ B |AADE—AHEA 2,809 1,739,433
19| 2 (17 5 ¥ B |AADE—AHEA 848 1,738,585
20] 3 |10 A 1 B [FHEWINHEBE3I8 DicR 100,000 1,638,585
21| 3 | 13||zE=FERERE ILNERINERE | INERGHEDRIE 881,265 757,320
22| 3 | 24||ZEEEREREE IZNRINRE | L iRan 2R S 133,908 623,412
23] 3 [ 24|z EBiRERSS IZNRINRE |[LERauis AR 9,495 613,917
24| 3 [ 24| EBIRERSS IZNRINBE |[hERauFTEI AR 969,019 44,898
25| 3 |31 ERMERE [DE-N (KE=R) 1~38%D 352 44,546




